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3 100kN/mM#%# 8% % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZE#B 25 — -~ — — |3m%#B2% -~ — — —
zh st 1.00 | 0.00 ~ 635 79.92 | =nLS | 000 ~ 635 1.87 10.00 zh st 1.00 | 5.00 ~ 7.70 79.92 | =ns 600 ~ 7.70 ] 1.87 10.00
4 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
Zzhnst 1.00 ] 000 ~ 649 81.68 | #nlst | 0oo ~ 649|1.76 9.44 ZThLLst 1.00 | 500 ~ 769 81.68 | TnS | 5.00 ~ 7.69|1.76 9.44
5 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ#B 25 — -~ — — |3m%#B2% -~ — — —
zhnst 1.00 ] 000 ~ 720 91.62 | #ns | ooo ~ 720|242 12.94 ZThLLst 1.00 | 5.00 ~ 10.00 91.62 | TN | 5,00 ~ 1000|242 12.94
100kN/mM#%#BZ % ~ ImEHBZD ~ 100kN/mM#E#BZ % ~ 3mEHBZAS ~
Zzhnst ~ zh st ~ zh st ~ ZzhnLs ~
100kN/mM#%# 8% % ~ ImEHBZD ~ 100kN/mM#E#BZ % ~ 3mEHBAS ~
zhnst ~ zhnLs ~ zhst ~ zhLst ~
100kN/mM##BZ 5 ~ ImEHEAZDL ~ 100kN/m%#EZ % ~ ImEEZD ~
zhst ~ zhnLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEAZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLst ~
100kN/mM##BZ % ~ ImEHEZDL ~ 100kN/m%#EZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLst ~
100kN/m##BZ % ~ ImEHEAZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
zhnst ~ zhnLs ~ zhst ~ zhLs ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ LS ~ Th Lot ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ LS ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZThLLS ~ LS ~ ThLlst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Zh LS ~ ZnList ~ Zh LS ~

iy
H
|



